4. BRoy LU

4 el

k+s O R

N4 _ 4 44 |TAX
A doi oo B
«\sz o 2
k>,) h(th) (N }LZ



Z),, Sor o @ E_o} +ODE.

, Di DO
4 __-4____ kye - R
R hix 7 k(k'rsr.)

_ < L = can Rize ro h
h(hl!x) R->i0 k% R~>12
¢ = ok L _ A So
rRE 7 k % I5¢

o Z}_ Cmenge  Con ;# Cmvma—t

k> k®
(gc"uk_ dr Rimmm aee R =4d >“f)
<_DO/\M/ Fa/l & w’lm A::-TMV. 0{;0 eé'u'vo a erma ,foi}:jp
> 1.4
> | R Rlx wmﬁe‘ !

o SN x=0:

I 1 _0.
R kix R R

(Dmc Pa, 0o UL Z"K-i— a  Came

lz)l hioo

e ﬂ—du'ui O, Jone c@L (’mhﬁi& et m

DML \/ald' O .



‘S:mfmm& :

J
<Pom ok o €R+, %- L T m (mge
o 1§‘3 (5o
= 4 4 = \ __.4 = 0 —o
5a. S[o)(_ 24 R e
SCO)z-o
Yoo
4 A
1) = _
S() h=r» R Rt
N ) ,
! -
¥N>/4) }\-_-.Zl--}{-- R 4 k N ¥+) N.-}b?ﬂ

n L |<bo CJPST\;L_

‘—Dmc S(JD =4




%"

2n+l

= Z

1

2

22
2n+1

Ly
- =

+1

=n

k

739,

k™~ k+1
e

1

Y, b. Montrer, pour tout n de N* :
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En déduire la valeur de S(
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